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SN BA(SA) - MRAY - BES 0l &t o il HImEET
SR 41,384,549 36,259,050 5,125,499
Xl 28,895,000
< 12,489,549
2YEU= AKX 4,839,000 1,735,600 3,103,400
ANFAES H= N 4,839,000 1,735,600 3,103,400
= ENXNY =4 3,204,400 0 3,204,400
403 A X EHHS =0l A 3,204,400 0 3,204,400
01 X HHMA=LE L 3,204,400 0 3,204,400
Oo3e EXNXNE =4 3,204,400
EXsX 28 ¥ g5 4 126,000 151,000 A 25,000
307 gl2tol & 126,000 141,000 A 15,000
05 BIZHRI & 3 126,000 141,000 A 15,000
OHAEXNEHS M 15,000
OKOTRA 2/=0Ql SXXIJHLE ZSHOIX 22l 11,000
OZSEINIEH ASINGANJAEH XA 100,000
ENgX Y ISR & 240,300 266,300 A26,000
201 Let24E] 73,200 69,200 4,000
01 At 2t 2l 61,000 65,000 A 4,000
OFXsX &€z S M= 10,000
OFEN=XAE 28+ 4,000
O=2U AXNSFX L HEXNY LI 8,000
OFXNRX 22 HSA UES 5,000
OFERX2H & -HAR 4,000
OddEXN=X &= XS 30,000
02 =24l 12,200 4,200 8,000
OATIlgae 2208 RS 4,200
OLX=X g2 dENE RN S 8,000
202 4l 150,000 180,000 230,000
01 = LH 4 HI 20,000 20,000 0
S 2 IYRX &= 20,000
03 22 L0l 130,000 160,000 A 30,000
EsI S2=2204 130,000
203 YR =&t 17,100 17,100 0
03 Al =AY R =& 17,100 17,100 0
OFXYX gR=2 2,850
OF XX AlZ=2A 14,250
I EXIY 83 A& 1,077,000 1,077,000 0
308 XXM SOIA 77,000 77,000 0
01 IXNHHBNEES 77,000 77,000 0
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s = 4
SN BA(SA) - MRAY - BES 0l &t o il HImEET
=0 FEIJNY A= Uz XN&E 72,000
e=e FEXINY AMLREX 2z X 5,000
403 A X EHHS =0l A 1,000,000 1,000,000 0
01 AXISHHA=2E = 1,000,000 1,000,000 0
A= FEXIIY BRI X3 1,000,000
JGETNHA B85 88 191,300 241,300 /50,000
201 et 191,300 241,300 A 50,000
01 AFR2teltl 191,300 241,300 /50,000
OJlg ENH HESEE 160,000
OSX0A BE2E ME 31,300
MEEHT =24 & 29 36,315,000 34,288,000 2,027,000
Xl 28,895,000
=) 7,420,000
Ao JIEtAIEAS X2 30,668,000 30,097,000 571,000
X 24,341,000
=) 6,327,000
AN SHEFHE N2 24,341,000 24,903,000 A 562,000
X 24,341,000
403 AXSHHS =0l A 24,341,000 24,903,000 A562,000
X 24,341,000
01 AR SHHA =22 = 20,314,000 11,910,000 8,404,000
OMYET SYBLAE 20,314,000
Xl 20,314,000
02 SII2SOICHSHCHE A HI 4,027,000 12,993,000 A 8,966,000
O3gEs+ S22 4,027,000
Xl 4,027,000
NP 23T ZAH X& 164,000 100,000 64,000
403 TtXI M S A =01A 164,000 100,000 64,000
01 AR SHHA =22 = 164,000 100,000 64,000
O&rE X 2 3HIH = AbHI 164,000
MHSHT LR 40,000 44,000 4,000
201 fEt2E | 40,000 40,000 0
01 AFR2t2l | 40,000 40,000 0
ougExA RS 2Y 40,000
MEH A SR RS ALY 30,000 30,000 0
307 21201 A 30,000 30,000 0
02 It HAAMAEE 30,000 30,000 0
QHMEfALEH(EIP) RHE ALY 30,000
AMMAHT =4 X 6,093,000 5,020,000 1,073,000
201 LEt2A | 10,000 20,000 A 10,000
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SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
01 At 22l 5,000 15,000 A 10,000
O =HAJS 29 5,000
03 A2 Z Hl 5,000 5,000 0
OAMMAAT ZLHAL IS 5,000
308 XXM S0 A 46,200 0 46,200
01 IXNHHBNEES 46,200 0 46,200
Os2 dNHA 2EXA 46,200
403 A X EHHS =0l A 6,036,800 5,000,000 1,036,800
01 X SHHM A28 X 6,036,800 5,000,000 1,036,800
O&tMAAHT ZHAE XA 6,036,800
s3I =4 ¥ 29 5,647,000 4,191,000 1,456,000
Xl 4,554,000
< 1,093,000
S3SHA ALY 4,896,000 3,576,000 1,320,000
Xl 4,554,000
< 342,000
403 UHXSHHSA=0l& 4,896,000 3,576,000 1,320,000
X 4,554,000
< 342,000
01 XM= E L 4,896,000 3,576,000 1,320,000
Os3HRX =4 3,179,000
Xl 2,837,000
< 342,000
Os3CA ==IIBHAIE A 1,717,000
Xl 1,717,000
s3sHAEos 294 XA 30,000 30,000 0
307 giz2tol & 30,000 30,000 0
02 It S AHE L 30,000 30,000 0
Os3HHXEos 298 X& 30,000
SSEHA S=IIEHAIE e ALY 721,000 585,000 136,000
403 MHXSHHSA=0l& 721,000 585,000 136,000
01 XM A=E L 721,000 585,000 136,000
Os3HR “RIIBAIE A 721,000
HRES(SXLYX D) 147,149 151,650 AN 4,501
HEAHHK = 147,149 151,650 A 4,501
WHEHH X = 147,149 151,650 24,501
705 ==& cl 34 147,149 151,650 24,501
03 Al - EXGHED I SH =2 S & 111,900 112,465 A 565
02008 l=¢0 EXNXNE =4 111,900
04 Al - SXISOHED| 30l =3 0| KH&+H& 35,249 39,185 A 3,936
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
| | | 02008 2/ =Q EX X =4 35,249
HERIAZH (SRR ) 83,400 83,800 A 400
Jl2Z3dl (SR X ) 83,400 83,800 A 400
JlE2&l 83,400 83,800 A 400
201 L2l 39,600 41,800 A2,200
01 At 22l 39,600 37,800 1,800
OFXRi 2= 39,600
202 04 Hl 39,600 37,800 1,800
01 = LH Yl 39,600 37,800 1,800
OFXgX gRF2 39,600
203 YR =&l 4,200 4,200 0
04 EAN2IHRFEHI 4,200 4,200 0
OF X+ Xl 1t 4,200




